Al

She an umbrella because it's raining.
Answer:

The wind the leaves off the trees.
Answer:

We need to our jackets because it's getting cold.
Answer:

| think it's going to tomorrow.

Answer:

The sun early in the morning.

Answer:

The storm all night.

Answer:

The weather for the better.

Answer:

It's too hot, can you the air conditioning?
Answer:

The snow heavily last night.

Answer:

The temperature to zero degrees.

Answer:




Answers

She an umbrella because it's raining.
Answer: needs

The wind the leaves off the trees.
Answer: blew

We need to our jackets because it's getting cold.
Answer: put on

| think it's going to tomorrow.
Answer: rain
The sun early in the morning.

Answer: rises

The storm all night.

Answer: raged

The weather for the better.
Answer: improved

It's too hot, can you the air conditioning?
Answer: turn on

The snow heavily last night.
Answer: fell
The temperature to zero degrees.

Answer: dropped



